Efficiency vs P,

0.05
o
9.045
>
20.04
[}
2.035
[J]
0.03
0.025
0.02
0.015
0.01F -+ P Feeeeeeeeen e
0.005

*

[
[=)

Ratio
=
o
||!||||!|||I |III|
_.’:_

iy

+

+ 0
f—
b ...

=
o
N
.
.
o
-+
e}
;
o)
2.
=)

—=— DQM_TT__mkFit-DQM_original

—— DQM_TT__mkFit-DQM_original_newwindows

=0.05
[2]
2.045
Q
$0.04
Q
#.035
(3]
0.03
0.025
0.02
0.015 :
0.02F - ## +
005 - ;—#----+¢++++ W -------------
.0 LA
1.1

Ratio

0.9
085

o
O[T T T rT
b
—— .
+

Efficiency vs ¢

o0.02 : T T
) : : : : : : :
e A S A
(8] . . . . . . .




	Contents
	Page 1


